

部分分数分解

$$\frac{1}{(x+1)(x+2)} = \frac{\square}{x+1} + \frac{\square}{x+2}$$

$$\frac{x+4}{(2x+1)(x-3)} = \frac{\square}{2x+1} + \frac{\square}{x-3}$$

$$\frac{3x+2}{(x+3)(x-4)} = \frac{\square}{x+3} + \frac{\square}{x-4}$$

$$\frac{x}{(x+1)^2} = \frac{\square}{x+1} + \frac{\square}{(x+1)^2}$$

$$\frac{3x^3 - x}{x^2 - 1} = \square + \frac{\square}{x+1} + \frac{\square}{x-1}$$

有理化

$$\frac{1}{\sqrt{x+1} + \sqrt{x}} = \frac{1}{\sqrt{x+1} + \sqrt{x}} \times \square = \square$$

$$\frac{1}{\sqrt{x+1} - \sqrt{x+3}} = \frac{1}{\sqrt{x+1} - \sqrt{x+3}} \times \square = \square$$

注意 例題 57 と例題 60 は公式としてあつかう (できなくても問題ない). 例題 59(2) は難しい (C クラスでは扱わない)